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- TIM2TH 71D TMPINY 79 NN
He says to her; your silence is better than your talking

Overview

777 M rules in our 7Iwn that if someone divorces his wife because she is an
m1R,' he may never take her back as a wife. If she married someone else and
bore children, and demands her 7215 payments from her first husband, >"9 rules
that the (first) husband says to her 7°112>72 79> M Nw; meaning that if you persist
in claiming the 72112, I will be van the w3, for I only divorced you because I
assumed that you were an n°1?°K, but now that it turns out that you are not an
nR, I may be 9v2an the va (and your marriage to the second husband will be null
and the children will be o 1n). This is how he is able to deny her request by
making this threat. N1901n reconciles our X3 with seemingly contradictory ni7na.

nooIN asks:
=19PNVY " PN NPNY X¥N ON) 9INN ON)

And if you will say; and if she is quiet, will we be quiet -

- £33 1Y 17 SP9399 NNYI %33 (4,0 97 03 1NN YY XAN PI9 903 KOS 29 299 901
For this is what X5 27 asks in the end of \n»2° %y Xam »=5 regarding the case
where she married a fourth husband and bore children to him —

MooIN answers:
- >Nan PPYWI9T NINN K AW DND KDY 1YY NIN 51 KY 33 ONNT MY Y

And one can say that there too (in n12°) we are only concerned for rumor

! He is not obligated to pay her 7210, if she is an n°112x (and he was not aware until after the wedding).

* The xn™92 there states if a woman married two men (consecutively) and bore no children, she should not marry a
third person (who is childless) and if she marries him she leaves without a 7121n2. The X3 asked what if she married
a fourth person and had children from him, can she go back and claim her 72113 from her third husband (for we now
see that she can bear children). The X723 there answers (similar to here) that we say to her 712> 119> TMpP°nY;
meaning that the third husband may nullify the 03, so therefore release your claim (see ‘Overview). X855 27
challenged this answer saying; j’PNw » 73X Rpnw 7K *X! The point 5"1 is making is if the husband has a valid claim
that he can nullify the v3 by saying, ‘I only divorced you because you could not have children, but had I known that
you can bear children I would not have divorced you’, thereby nullifying the 3, this argument can seemingly be
made by us the 7"2; why does not the 7"2 say that the v is P02 since he divorced her under a mistaken assumption.
The fact that we do not say this, indicates that this claim is meaningless, that he certainly divorced her regardless
whether she can or cannot have children, so since he has no threat against her; what is the meaning of 75 NP nw
TM271?! The same question that ¥95 17 asked there, we can ask here. Since we the 7"°2 do not claim that the
divorce by the first husband to the "1k is void (even though she had children from the second husband), so how
can he threaten the n1?°X, since we assume that the divorce is binding (see 2"277). See “Thinking it over’.

? See *X 7"7 X, 'O (regarding 771 @Wwn X*¥m7) that the concern is only for 1¥%, but not that he can be uan the v3.
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mongering, but not to nullify the v3, since he divorced her explicitly without
making any stipulations or reasons, as I explained here -

mooIn responds to an anticipated difficulty:4
- N9 1PPNT 1Y KNS XIY TN K97 *ONN 393 1PNY 19 MNT XD 29 70999

And s'8pp 29 question was that that the 2°n2r1 should have enacted also there
that he cannot take her back in order that there should be no 1¥% as they

instituted here (by nnox, etc.) -
- 75199241 XD ROWNT NI V7 1999N 91 IND INTY NIN 2IVUN)

And the X there answers that even without the 7ipn of 77> X5, there

certainly will not be even a 1¥%, for we will say, that she became healthy now

when she married the fourth man
- 721N YannY s8m 8Y Ny NHM

And for this very same reason she cannot claim her 772302 from the third husband —

mooIn explains now why here we do not say 11pPnw 2 IR ApPNW *X:
= 99N RYT PPNT 119 1YY RIDT 1PNV ) PR NPNY NN ON XON DaN

However here (by the n117°X) if she is silent (and does not claim her 72102), we
will also be silent for there is no concern of 1¥> by an n°"11?°X since the 0

enacted that 2517 R® -
- 9‘[ MW XY H2I19 NN NHYTIN AY 99N 2819 NN ¥anny NINN IN)

And if the >112°R comes to claim her 721> payment, he can tell her, ‘I did not
divorce you with the intent a paying you the 173102’ —

* We are now saying that when the X723 writes 7"112°7% 79> TMpPNw, it means that he is threatening her that if she
will demand her 72103, he will be 1¥% X°%1 on the va. How is it then that 9" asks JPpPNw " JIR XpnWw PR X, does he
mean that the 7"°2 should threaten her that they will be 13 X>X¥ on the v3; this is inconceivable!

> In a case where she was twice married without bearing children the rule should be that if a third person marries her
(72¥>72) he should be told that if he divorces her he can never take her back; in which case there will be no 1v5.

® The 710 of 71 XD prevents a 1%, The reason he is 192 X°¥1 is in order to take her back; however once he realizes
that he cannot take her back (because of this 2311 nipn), there is no point in being 199 X>XwA.

7 There is no 1v% because he cannot say that ‘if I would have known that you can bear children I would not have
divorced you’, because we will say that indeed when he divorced her she was incapable of having children (so the vx
is valid), and later (when she married the fourth husband) she was healed, and was able to bear children. See
footnote # 17.

¥ She cannot say, ‘I deserve a 72102 from my third husband since I can bear children’, because we will say that when
you were divorced, you were indeed incapable of bearing children (because of some illness or malfunction) and only
now were you healed, therefore his divorce was justified and you have no claim for a 7213 payment.

? 1t is only where she is claiming her 72103 that her first husband says to her M2 79> TMp°nw; he threatens her
that he will be 1v% X°¥. He will say that ‘if had known that you will have children and therefore I would need to pay
the 71212 I never would have divorced you’, so the divorce is void; this is the 197 that he will be X% if she pressures
him for the 72103, otherwise (if she is quiet) there will be no 17 since 711> X7,
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mMdoIN responds to another anticipated difficulty: '
= 1’929 XY RNYN 7MY NPT N9PYa Y9IRT 0N

For only there where she was (merely) a barren woman (not an n°12°X) can we

say n°9aT Ry ROWT -
- 20937 Xyn KDY Y9 7Y XY w01 mnN paDa 59987 NN YaN

However here in our mwn» where we are discussing a nm» R poo, as we
explained, it is not possible to say n>927 X7 RNWT —

In summation; firstly in all cases there is only a concern of 1¥%, but not of VA7 72 (since he
divorced onv). There are two ways in which 132 can be prevented; either by being jpnn that R
911 (this is applicable in the cases of N11?°X, etc. where the X120 of n™27 X171 RNWh is not
applicable), or by the X720 of n*127 X7 Xnwi (which is applicable by the four marriages), in
which case there is no need to make a 73pn of 217> X5,

mooIn responds to an additional anticipated difficulty:
- 131)",75‘\\0 ) 1IN POV ONN A9 KMPHPY NXON SYWN XYY 19297 179N

And even according to the 1139 of our mwn who are not concerned for a
problem (they maintain 2’1 and are not concerned for 1), nevertheless the X773
there in Nn2°, correctly asks, J19pnw 5% IR —

mooIn responds:
- Y033 1Y 190 XY DIYY AN 939V YY) B3 1Y PPNRT QIVNT 0NN 1929 11INT

There the 3129 admit that there is a concern of 1¥%, since he divorced her because of
no children, for she was already married to two people and she had no children -

mooIn asks:

' Tn nmar we were not 1 XY 17N because we were not concerned for 13, since we can say N°127 X1 Xnwi (see
footnote # 7), so here too by n°172°X why was there a n1pn of 21> X2, let us say here too n°127 X171 Rnwn?!

' See previous X171 71" ‘01N

"2 1 she was actually an n°112°X she can never be healed (see footnote # 11), and if she was not an n°"112°X, why should
we say N*127 X1 Xnwi; we assume she was always healthy, and therefore there will be 1v%.

" nooin explained previously that 2" when he asked 1PN " 73X meant to say why was there no 73pn made that &>
711 (so there will be no 1% [as a 73PN was made by n>11?°R according to °"1]). However the j327 maintain by nno>x
that 21 (for they are not concerned), so what is 8" asking that there in n32° there should be a 71pn of 21 8%; why
should there be a mpn there (by 2°w1 '7) more than here (by n"n7°K), according to the 7121.

" In our 7awn where he is divorcing her because of a n°"112°X 20 (see previously) we assume that he is divorcing her
with finality, whether she turns out to be an n°*11°X or not, therefore there will be no 1v%; however there where she
married twice without any children and then she married this third husband and bore him no children, he is
divorcing her because he is sure that she cannot bear children. However if it turns out that she can have children, he
will be 197 XX and say if I knew you can have children I would never divorce you. [This all is in the "7 before we
say N'M27 K17 RNWi; in which case there is no 13%.]
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- 951 K97 ROV 299 PNDY 1Y PRY AUN 533 (3,20 41 D137 RNDP P99 9103 IR ON)
And if you will say; we learnt in a X072 in the end of the first 95 of 7171 noon,
regarding a woman who has no noy, that he needs to divorce her and never take

her back; the X713 there asked; ‘it is obvious that 291> 8%’; why does the ®n*12 need
to teach it to us -
- AT RIINT 1D JPION 11T NI XY 23W)

And the X answered, it was necessary to teach us this rule even in a case
where, she improved and she now has a no1, I would think perhaps he may take

her back -
- 165595 12291 NHINT 1938 )9 YYD KD

Therefore the Xn>72 teaches us that he may not, for sometimes she may go and

marry, etc. This concludes the citing of the X773, Mo0IN asks
= 199249 NI NHYH 0NN 19999N KXY INNIN)Y

But why do we not say there (as we said in mM»n2%) that n5927 K7 XA in which
case there is no 1v5?!

MooIN answers:
= 9 9PN K81 30D NN DD NY DAY NP 19N NNDINVY 11D ONNT 9 UM

And one can say that there (by the no1) since she was healed, this shows that a

medicine can cure her (to give her a noY), therefore he can ruin her -
$ANIDYY 0D NY YPAN NN D NANIDI WY Y199 911 1IN 9IINT

For he will say, ‘if I would have known that this (101 problem) can be healed I

would have found for her this medicine to heal her’, but the same cannot be said for
the case in nm2.""

Summary
Where we can apply the logic of n*127 X7 Xnwi (in Mn2°) we do not make the 71PN

of 7" &2; however where that X720 does not apply (by n°112°k and no1) we are X7 jpnn
21 to prevent 137. There may be a greater concern for 132 in N2 than by n°1Y?°X.

Thinking it over

'> A noy means a set time (or a set trigger) for the onset of her menstrual cycle.

16 By this second husband she had a no1, we are concerned that the first husband would say, ‘had I known this, I
would never have divorced her, etc.”, D°man 7°121 02 VA X¥AN (as we said here in similar cases).

17 See ¥°K 71"7 2,2° 7171 '0n who writes; 9pa [RI97 72 PRT AIRYY THT XY 00 1YY KR ANOT? 1IN 021910 *'Y Hpa RITT 9
T2 1017 RIT RAW 012 0777 822, There is seemingly no easy cure for a barren woman; we can only say N°127 X7 Rnwn
that they healed her now 2w 1. Therefore by no1 he can claim, ‘had I known of this medicine I certainly would
not have divorced her’, however by the childless woman he cannot claim that he would have done anything, because
there is nothing basically that people can do; it is up to the 2°»w and one does not depend on miracles. See mw» non.
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moon asks his question from our 1wn of N°19°KX to the X3 in NP2’ regarding PR
wpnw on 1R apnw 89.'° Seemingly mooin could have asked the same question
(also) on the previous 7wn of 771 WM "W 21WN INWR DX XX A, Why did mooin
only ask his question on our mwn?!"

18 See footnote # 2.
¥ See 0"n.
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